

TOTALLY (m, n) -PARANORMAL OPERATORS

SONU RAM^{1*} AND PREETI DHARMARHA²

ABSTRACT. In this paper, we investigate the class of totally (m, n) -paranormal operators on Hilbert space and prove some additional properties of totally (m, n) -paranormal operators on Hilbert space. We also demonstrate the applicability of Weyl's theorem to operators in this class. Additionally, we demonstrate that the spectral mapping theorem is satisfied by the Weyl spectrum for totally (m, n) -paranormal operators.

1. INTRODUCTION AND PRELIMINARIES

Throughout the article, \mathcal{H} will denote an infinite dimensional separable complex Hilbert space with the inner product \langle, \rangle , unless specified otherwise and $B(\mathcal{H})$ denote the C^* -algebra of bounded linear operators on the Hilbert space \mathcal{H} . In this paper the set of all complex numbers denoted by \mathbb{C} . We define $\ker(T)$ and $\text{ran}(T)$ as the null space and range space of T , respectively, for T in $B(\mathcal{H})$. Additionally, $\alpha(T)$ and $\beta(T)$ will be used to represent the dimensions of $\ker(T)$ and $\ker(T^*)$, respectively.

[2, 9, 17] For a bounded linear operator $T \in B(\mathcal{H})$, the spectrum of T and the point spectrum of T are defined by $\sigma(T) = \{\lambda \in \mathbb{C} : T - \lambda \text{ is not invertible}\}$ and $\sigma_p(T) = \{\lambda \in \mathbb{C} : Tx = \lambda x \text{ for some non-zero vector } x\}$, respectively. Equivalently, the Weyl spectrum of T and the set of all isolated points of spectrum of T , which are eigen values of finite multiplicity are defined by $\sigma_w(T) = \{\lambda \in \mathbb{C} : T - \lambda \text{ is not Weyl}\}$ and $\pi_{00}(T) = \{\lambda \in \text{iso}\sigma(T) : 0 < \alpha(T - \lambda) < \infty\}$, respectively, where $\text{iso}\sigma(T)$ is the set of all isolated points of spectrum of T .

An operator $T \in B(\mathcal{H})$ is called Fredholm if the following hold.

- $\ker(T)$ is finite dimensional.
- $\text{ran}(T)$ is closed.
- $\ker(T^*)$ is finite dimensional.

$\alpha(T) - \beta(T)$ gives the index of the Fredholm operator T and If operator T in $B(\mathcal{H})$ is Fredholm of index zero, it is said to be Weyl.

T satisfies the Weyl's theorem if $\sigma(T) \setminus \sigma_w(T) = \pi_{00}(T)$. An operator T is said to be positive if $\langle Tx, x \rangle \geq 0 \forall x$ in \mathcal{H} and also strictly positive if $\langle Tx, x \rangle > 0 \forall$

Date: Received: Jun 14, 2023; Accepted: Jul 26, 2023.

* Corresponding author.

2020 *Mathematics Subject Classification.* Primary 47A10; Secondary 47B20.

Key words and phrases. (m, n) -paranormal operator, Riesz idempotent, Weyl spectrum, Weyl's theorem, Spectral mapping theorem.

x in \mathcal{H} . If an operator T is strictly positive, that is, $T > 0$, then T is invertible. The formula for the spectral radius of T is

$$r(T) = \sup \{|\lambda| : \lambda \in \sigma(T)\}.$$

If $r(T) = \|T\|$, then we say that T is normaloid. If $\|Tx\|^{n+1} \leq m\|T^{n+1}x\|\|x\|^n$ for all $x \in \mathcal{H}$, where m is a positive real number and n is a positive integer, then $T \in B(\mathcal{H})$ is (m, n) -paranormal [3].

Definition 1.1. An operator T is said to be a totally (m, n) -paranormal operator if $\|(T - \lambda)x\|^{n+1} \leq m\|(T - \lambda)^{n+1}x\|\|x\|^n$, for all $x \in \mathcal{H}$ and all $\lambda \in \mathbb{C}$.

Let the ascent and descent of an operator T be denoted, respectively, by $p(T)$ and $q(T)$. If there is at least one non-zero integer m_1 such that $\ker(T^{m_1}) = \ker(T^{m_1+1})$, then T has finite ascent and $p(T) = m_1$. Additionally, if such an integer doesn't exist, then $p(T) = \infty$.

Similar to this, if there is at least one non-negative integer m_2 such that $\text{ran}(T^{m_2}) = \text{ran}(T^{m_2+1})$, we claim that T has finite descent and that $q(T) = m_2$. Also, $q(T) = \infty$ if such an integer does not exist. When $p(T)$ and $q(T)$ are both finite, $p(T) = q(T)$ [11, Proposition 38.3]. Additionally, given a complex number λ , $0 < p(T - \lambda) = q(T - \lambda) < \infty$ if and only if λ is a pole of the resolvent.

Definition 1.2. If an analytic function $f : G \rightarrow \mathcal{H}$ is the only one that satisfies the equation $(T - \gamma I)f(\gamma) = 0$ for all $\gamma \in G$, then an operator T is said to have single valued extension property (abbreviated as SVEP) at $\gamma_0 \in \mathbb{C}$, where G is open neighborhood of γ_0 . If an operator T has SVEP at each $\gamma \in \mathbb{C}$, then T has SVEP.

Let $T \in B(\mathcal{H})$ and λ_0 be an isolated point of $\sigma(T)$. Then there exists a small enough positive real number $r > 0$ such that $\{\lambda \in \mathbb{C} : |\lambda - \lambda_0| \leq r\} \cap \sigma(T) = \{\lambda_0\}$. Let

$$E = \frac{1}{2\pi i} \int_{|\lambda - \lambda_0| = r} (\lambda - T)^{-1} d\lambda.$$

E is called the Riesz idempotent with respect to λ_0 . Then it is well known that $E^2 = E$, $ET = TE$, $\sigma(T|_{\text{ran}(E)}) = \{\lambda_0\}$ and $\ker(T - \lambda_0) \subseteq \text{ran}(E)$. Riesz idempotent E is not orthogonal projection. The necessary and sufficient condition for E to be orthogonal is that E is self-adjoint [11]. Moreover, we refer more articles to understand the background this article [17, 18, 4, 5, 14].

2. WEYL'S THEOREM FOR TOTALLY (m, n) -PARANORMAL OPERATORS

In this section, we study some properties of totally (m, n) -paranormal operators. We begin with the following theorem which is a characterization of the class of totally (m, n) -paranormal operators [1, 3].

Theorem 2.1. Let $T \in B(\mathcal{H})$. Then T is totally (m, n) -paranormal for each positive integer n and positive real number m if and only if

$$m^{\frac{2}{n+1}}(T - \lambda)^{*n+1}(T - \lambda)^{n+1} - (n+1)a^n(T - \lambda)^*(T - \lambda) + m^{\frac{2}{n+1}}na^{n+1}I \geq 0, \quad (2.1)$$

for each $a > 0$ and all $\lambda \in \mathbb{C}$.

Proof. For each $x \in \mathcal{H}$, from the definition of totally (m, n) -paranormal operator, then operator T satisfies

$$\|(T - \lambda)x\|^{n+1} \leq m\|(T - \lambda)^{n+1}x\|\|x\|^n,$$

this gives

$$\|(T - \lambda)x\|^2 \leq m^{\frac{2}{n+1}}\|(T - \lambda)^{n+1}x\|^{\frac{2}{n+1}}\|x\|^{\frac{2n}{n+1}}. \quad (2.2)$$

Equation (2.2) yields the extended arithmetic-geometric mean inequality, which gives

$$\begin{aligned} \frac{m^{\frac{2}{n+1}}a^{-n}}{n+1}\|(T - \lambda)^{n+1}x\|^2 + \frac{nm^{\frac{2}{n+1}}a}{n+1}\|x\|^2 \\ \geq m^{\frac{2}{n+1}}(a^{-n}\|(T - \lambda)^{n+1}x\|^2)^{\frac{1}{n+1}}(a\|x\|^2)^{\frac{n}{n+1}} \\ = m^{\frac{2}{n+1}}\|(T - \lambda)^{n+1}x\|^{\frac{2}{n+1}}\|x\|^{\frac{2n}{n+1}} \\ \geq \|(T - \lambda)x\|^2. \end{aligned}$$

It follows that

$$m^{\frac{2}{n+1}}(T - \lambda)^{*n+1}(T - \lambda)^{n+1} - (n+1)a^n(T - \lambda)^*(T - \lambda) + m^{\frac{2}{n+1}}na^{n+1}I \geq 0,$$

for each $a > 0$.

Conversely, suppose that (2.1) holds. If $\|(T - \lambda)^{n+1}x\| = 0$ for some $x \in \mathcal{H}$, then on multiplying by a^{-n} , we obtain

$$-(n+1)(T - \lambda)^*(T - \lambda) + m^{\frac{2}{n+1}}naI \geq 0.$$

Now taking the limit $a \rightarrow 0$ in the above equation, we have $\|(T - \lambda)x\| = 0$. Therefore,

$$\|(T - \lambda)x\|^{n+1} \leq m\|(T - \lambda)^{n+1}x\|\|x\|^n.$$

Also, if for some $x \in \mathcal{H}$, $\|(T - \lambda)^{n+1}x\| > 0$, then for $a = \left(\frac{\|(T - \lambda)^{n+1}x\|}{\|x\|}\right)^{\frac{2}{n+1}}$ in (2.1), we obtain

$$\begin{aligned} \frac{m^{\frac{2}{n+1}}}{n+1}\|(T - \lambda)^{n+1}x\|^{\frac{2}{n+1}}\|x\|^{\frac{2n}{n+1}} + m^{\frac{2}{n+1}}\frac{n}{n+1}\|(T - \lambda)^{n+1}x\|^{\frac{2}{n+1}}\|x\|^{\frac{2n}{n+1}} \\ \geq \|(T - \lambda)x\|^2, \end{aligned}$$

which implies

$$\|(T - \lambda)x\|^2 \leq m^{\frac{2}{n+1}}\|(T - \lambda)^{n+1}x\|^{\frac{2}{n+1}}\|x\|^{\frac{2n}{n+1}},$$

and hence

$$\|(T - \lambda)x\|^{n+1} \leq m\|(T - \lambda)^{n+1}x\|\|x\|^n.$$

Hence, T is totally (m, n) -paranormal. \square

The following theorem shows that if T is totally (m, n) -paranormal on \mathcal{H} , then T is also totally (m, n) -paranormal on every invariant subspace W of \mathcal{H} .

Proposition 2.2. *Let $T \in B(\mathcal{H})$ be a totally (m, n) -paranormal operator on \mathcal{H} . Then T is also totally (m, n) -paranormal on an invariant subspace W of \mathcal{H} .*

Proof. Since T is totally (m, n) -paranormal on \mathcal{H} , so

$$\|(T - \lambda)x\|^{n+1} \leq m\|(T - \lambda)^{n+1}x\|\|x\|^n.$$

The invariance of \mathcal{W} under λI implies that for $y \in \mathcal{W}$, we have

$$\begin{aligned} \|(T|_{\mathcal{W}} - \lambda)y\|^{n+1} &= \|(T - \lambda)|_{\mathcal{W}}y\|^{n+1} \\ &= \|(T - \lambda)y\|^{n+1} \\ &\leq m\|(T - \lambda)^{n+1}y\|\|y\|^n \\ &= m\|(T - \lambda)^{n+1}|_{\mathcal{W}}y\|\|y\|^n. \end{aligned}$$

Thus, T is totally (m, n) -paranormal on \mathcal{W} . \square

Proposition 2.3. *If T is totally (m, n) -paranormal, then $T - \alpha$ and αT are also totally (m, n) -paranormal.*

Proof. Let T be totally (m, n) -paranormal. Then

$$\|(T - \lambda)x\|^{n+1} \leq m\|(T - \lambda)^{n+1}x\|\|x\|^n \quad (2.3)$$

for all $\lambda \in \mathbb{C}$ and $x \in \mathcal{H}$. Now, we shall show that $T - \alpha$ is totally (m, n) -paranormal. For $x \in \mathcal{H}$ and all $\lambda \in \mathbb{C}$, we have

$$\begin{aligned} \|[(T - \alpha) - \lambda]x\|^{n+1} &= \|(T - (\alpha + \lambda))x\|^{n+1} \\ &\leq m\|(T - (\alpha + \lambda))^{n+1}x\|\|x\|^n. \end{aligned}$$

This implies that $T - \alpha$ is totally (m, n) -paranormal.

Now, we shall show that αT is totally (m, n) -paranormal. First, we assume that $\alpha = 0$, then $\alpha T = 0$. By using (2.3), αT is also totally (m, n) -paranormal for $m \leq 1$.

In the second case, we assume that $\alpha \neq 0$, then for all $x \in \mathcal{H}$, we have

$$\begin{aligned} \|(\alpha T - \lambda)x\|^{n+1} &= |\alpha|^{n+1}\|(T - \frac{\lambda}{\alpha})x\|^{n+1} \\ &\leq m|\alpha|^{n+1}\|(T - \frac{\lambda}{\alpha})^{n+1}x\|\|x\|^n \\ &= m\|(\alpha T - \lambda)^{n+1}x\|\|x\|^n \end{aligned}$$

that is, $\|(\alpha T - \lambda)x\|^{n+1} \leq m\|(\alpha T - \lambda)^{n+1}x\|\|x\|^n$. Therefore, αT is totally (m, n) -paranormal. \square

If we put $\lambda = 0$ in totally (m, n) -paranormal, then it reduces to a (m, n) -paranormal. This implies that totally (m, n) -paranormal is a proper subclass of (m, n) -paranormal operators, but converse is not true. The following example shows the same.

Example 2.4. Let T be an operator defined on $\mathcal{H} = \mathbb{R} \oplus \mathbb{R}$ as matrix representation $T = \begin{bmatrix} 2 & 2 \\ 0 & 2 \end{bmatrix}$. By [3, Theorem 2.1] T is $(2^{\frac{3}{2}}, 2)$ -paranormal if and only if

$$2T^{*3}T^3 - 3a^2T^*T + 4a^3I \geq 0,$$

for each $a > 0$. Consider the operator equation

$$2T^{*3}T^3 - 3a^2T^*T + 4a^3I = \begin{bmatrix} 128 - 12a^2 + 4a^3 & 384 - 12a^2 \\ 384 - 12a^2 & 1280 - 24a^2 + 4a^3 \end{bmatrix}.$$

The above operator is positive for each $a > 0$. Now, we shall show that T is not totally (m, n) -paranormal. We know that T is totally $(2^{\frac{3}{2}}, 2)$ -paranormal if and only if

$$2(T - \lambda)^{*3}(T - \lambda)^3 - 3a^2(T - \lambda)^*(T - \lambda) + 4a^3I \geq 0,$$

for each $a > 0$. Consider the operator equation for $\lambda = 1$

$$\begin{aligned} 2(T - \lambda)^{*3}(T - \lambda)^3 - 3a^2(T - \lambda)^*(T - \lambda) + 4a^3I \\ = \begin{bmatrix} 2 - 3a^2 + 4a^3 & 12 - 6a^2 \\ 12 - 6a^2 & 74 - 15a^2 + 4a^3 \end{bmatrix}. \end{aligned}$$

The above operator is not positive for $a = 3$. Therefore, T is not totally $(2^{\frac{3}{2}}, 2)$ -paranormal.

The example below demonstrates how T is totally (m, n) -paranormal operator and (m, n) -paranormal operator as well.

Example 2.5. Let $T = \begin{bmatrix} -2 & 0 \\ 0 & -2 \end{bmatrix}$ be an operator on $\mathcal{H} = \mathbb{R} \oplus \mathbb{R}$. By [3, Theorem 2.1] T is $(2^{\frac{3}{2}}, 2)$ -paranormal if and only if

$$2T^{*3}T^3 - 3a^2T^*T + 4a^3I \geq 0,$$

for each $a > 0$. Now, Consider the operator equation

$$2T^{*3}T^3 - 3a^2T^*T + 4a^3I = \begin{bmatrix} 128 - 12a^2 + 4a^3 & 0 \\ 0 & 128 - 12a^2 + 4a^3 \end{bmatrix},$$

which is positive for each $a > 0$. It follows that T is $(2^{\frac{3}{2}}, 2)$ -paranormal. Now, we shall show that T is also totally (m, n) -paranormal. Choose $m = 2^{\frac{3}{2}}$, $n = 2$. The operator T is totally $(2^{\frac{3}{2}}, 2)$ -paranormal if and only if

$$2(T - \lambda)^{*3}(T - \lambda)^3 - 3a^2(T - \lambda)^*(T - \lambda) + 4a^3I \geq 0,$$

for each $a > 0$. Consider

$$\begin{aligned} 2(T - \lambda)^{*3}(T - \lambda)^3 - 3a^2(T - \lambda)^*(T - \lambda) + 4a^3I \\ = \begin{bmatrix} 2|2 + \lambda|^6 - 3a^2|2 + \lambda|^2 + 4a^3 & 0 \\ 0 & 2|2 + \lambda|^6 - 3a^2|2 + \lambda|^2 + 4a^3 \end{bmatrix}. \end{aligned}$$

The above operator is positive for each $a > 0$ and for all complex number λ . Therefore, T is also totally $(2^{\frac{3}{2}}, 2)$ -paranormal.

The proof of the following theorem is straightforward.

Theorem 2.6. Let $T \in B(\mathcal{H})$ with matrix representation as $T = \begin{bmatrix} T_1 & 0 \\ 0 & T_2 \end{bmatrix}$ on $\mathcal{H} \oplus \mathcal{H}$ be totally (m, n) -paranormal. Then T_1 and T_2 are also totally (m, n) -paranormal.

Theorem 2.7. *For a totally (m, n) -paranormal operator T on \mathcal{H} , T has finite ascent.*

Proof. Since T is totally (m, n) -paranormal

$$\|(T - \lambda)x\|^{n+1} \leq m\|(T - \lambda)^{n+1}x\|\|x\|^n, \quad (2.4)$$

for all $x \in \mathcal{H}$ and all $\lambda \in \mathbb{C}$. It is obvious that $\ker(T - \lambda) \subseteq \ker(T - \lambda)^{n+1}$. Suppose that $x \in \ker(T - \lambda)^{n+1}$, then (2.4) implies $(T - \lambda)x = 0$. Thus $\ker(T - \lambda) = \ker(T - \lambda)^{n+1}$.

Now, we shall show that $\ker(T - \lambda) = \ker(T - \lambda)^2$ for all complex number λ . It is clear that $\ker(T - \lambda) \subseteq \ker(T - \lambda)^2$. Let $x \in \ker(T - \lambda)^2$, then $(T - \lambda)^2x = 0$, so by using equation (2.4) and n is a positive integer, therefore we get that $(T - \lambda)x = 0$. Thus, $\ker(T - \lambda) = \ker(T - \lambda)^2$ for all complex number λ . Equivalently, we can prove that $\ker(T - \lambda) = \ker(T - \lambda)^i$ for $1 \leq i \leq n + 1$. This implies that $T - \lambda$ has finite ascent for all complex number λ implying T has finite ascent. \square

Corollary 2.8. *If T is a totally (m, n) -paranormal operator, then T has SVEP.*

Proof. By [15, Proposition 1.8], T has SVEP. \square

Remark 2.9. If T is a totally (m, n) -paranormal operator for positive integer $n \geq 1$, then $\ker(T) = \ker(T)^i$ for $1 \leq i \leq n + 1$.

Proposition 2.10. *If T is totally (m, n) -paranormal, where $m \leq 1$. Then $r(T) = \|T\|$, that is, T is normaloid.*

Proof. Since T is totally (m, n) -paranormal, hence for $x \neq 0$ we have

$$\|(T - \lambda)x\|^{n+1} \leq m\|(T - \lambda)^{n+1}x\|\|x\|^n.$$

It follows that

$$\|(T - \lambda) \left(\frac{x}{\|x\|} \right)\|^{n+1} \leq \|(T - \lambda)^{n+1} \left(\frac{x}{\|x\|} \right)\|.$$

This implies that

$$\|(T - \lambda)\|^{n+1} \leq \|(T - \lambda)^{n+1}\|. \quad (2.5)$$

It is easy to see that

$$\|(T - \lambda)^{n+1}\| \leq \|(T - \lambda)\|^{n+1}. \quad (2.6)$$

From (2.5) and (2.6), we obtain that $\|(T - \lambda)^{n+1}\| = \|(T - \lambda)\|^{n+1}$ for all complex numbers λ . Thus, $T - \lambda$ is normaloid for all complex number λ [12, Proposition 1]. Therefore T is normaloid. \square

Proposition 2.11. *Let T be a totally (m, n) -paranormal operator with $m \leq 1$ and $\sigma(T) = \{\lambda\}$. Then $T = \lambda I$.*

Proof. Since T is totally (m, n) -paranormal, so we have

$$\|(T - \lambda)x\|^{n+1} \leq m\|(T - \lambda)^{n+1}x\|\|x\|^n$$

for all $x \in \mathcal{H}$ and for all complex number λ . Let $\sigma(T) = \{\lambda\}$.

Case 1:- Let $\lambda = 0$. Then $\sigma(T) = \{0\}$. By Proposition 2.10, T is a normaloid operator. Therefore $r(T) = \|T\| = 0$, it follows that $\|T\| = 0$, implying $T = 0$. Hence, $T = \lambda I$.

Case 2:- Let $\lambda \neq 0$. Assume that $A_1 = \lambda^{-1}T$, this implies that $\sigma(A_1) = \{1\}$, that is, by [16, Theorem 1.5.14], A_1 is an identity operator. Therefore, $A_1 = I$, that is, $T = \lambda I$. This completes the required result. \square

We give the following lemma which will be useful to prove Weyl's theorem for a totally (m, n) -paranormal operator.

Lemma 2.12. *For $m \leq 1$, let T be totally (m, n) -paranormal and λ_0 be an isolated point of $\sigma(T)$. Then the Riesz idempotent E with respect to λ_0 satisfies $\text{ran}(E) = \ker(T - \lambda_0)$. Therefore λ_0 is an eigen value of T .*

Proof. By definition of Riesz idempotent E , it is clear that $\ker(T - \lambda_0) \subseteq \text{ran}(E)$. Now, We have to proof that $\text{ran}(E) \subseteq \ker(T - \lambda_0)$. By general rule of Riesz idempotent $\sigma(T|_{\text{ran}(E)}) = \{\lambda_0\}$ and Proposition 2.2, T is totally (m, n) -paranormal on $\text{ran}(E)$. Assume that $\lambda_0 = 0$, thus $\sigma(T|_{\text{ran}(E)}) = \{0\}$, by Proposition 2.11, we get $T|_{\text{ran}(E)} = 0$. This implies that $\ker(T) = \text{ran}(E)$.

Now, let $\lambda \neq 0$. Let $A_1 = \lambda_0^{-1}T$, again by proposition 2.11 and Proposition 2.3, A_1 is totally (m, n) -paranormal operator for $m \leq 1$ on $\text{ran}(E)$. It follows that $\sigma(A_1|_{\text{ran}(E)}) = \{1\}$. Hence, we obtain $A_1 = I$ on $\text{ran}(E)$. Therefore, $\ker(T - \lambda_0) = \text{ran}(E)$. This is the required result. \square

Regarding local spectral theory [6, 7, 13], recall that if $T \in B(\mathcal{H})$ and F be a closed subset of the complex plane \mathbb{C} , we define a global spectral subspace $H_T(F)$ as follows:

$$H_T(F) = \{x \in \mathcal{H} : \text{there exists an analytic function } f : \mathbb{C} \setminus F \rightarrow \mathcal{H} \text{ such that } (T - \lambda)f(\lambda) = x\}$$

Theorem 2.13. *If T is a totally (m, n) -paranormal operator with $m \leq 1$, Weyl's theorem holds for T , that is, $\sigma(T) \setminus \sigma_w(T) = \pi_{00}(T)$.*

Proof. Let $\lambda \in \sigma(T) \setminus \sigma_w(T)$. This implies that $\lambda \in \sigma(T)$ and $\lambda \notin \sigma_w(T)$. It follows that $T - \lambda$ is a Fredholm operator of index zero and $T - \lambda$ is not invertible. Also, $\ker(T - \lambda)$ is non-zero finite dimensional subspace. Now, we represent

T by the matrix $T = \begin{bmatrix} \lambda & 0 \\ 0 & T_1 \end{bmatrix}$ on $\mathcal{H} = \ker(T - \lambda) \oplus \ker(T - \lambda)^\perp$. Consider

$T - \lambda = \begin{bmatrix} 0 & 0 \\ 0 & T_1 - \lambda \end{bmatrix}$. $\ker(T - \lambda)$ is non-zero and finite dimensional subspace, so

it is clear that operator zero on $\ker(T - \lambda)$ is a Fredholm operator of index zero. Thus, by [8, Corollary 5], $\text{ind}(T - \lambda) = \text{ind}(0) + \text{ind}(T_1 - \lambda) = \text{ind}(T_1 - \lambda)$. That is, $\text{ind}(T - \lambda) = \text{ind}(T_1 - \lambda) = 0$. Now, we shall show that $\ker(T_1 - \lambda) = 0$. It is clear that by decomposition of \mathcal{H} , $\ker(T_1 - \lambda) \subseteq \ker(T - \lambda)^\perp$. Moreover, it is obvious that $\ker(T_1 - \lambda) \subseteq \ker(T - \lambda)$, therefore, we obtain $\ker(T_1 - \lambda) = 0$ and $\ker(T_1 - \lambda)^* = 0$. Thus, $T_1 - \lambda : \ker(T - \lambda)^\perp \rightarrow \ker(T - \lambda)^\perp$ is one to one map implying the ontoness of the map $T_1 - \lambda$. Hence $T_1 - \lambda$ is an invertible operator. Thus, $\lambda \notin \sigma(T_1)$. By [8, Corollary 8], it is easy to get $\sigma(T) = \{\lambda\} \cup \sigma(T_1)$, so λ is an isolated point of $\sigma(T)$. Hence $\lambda \in \pi_{00}$.

Conversely, assume that $\lambda \in \pi_{00}$. Then $\ker(T - \lambda)$ is non-zero finite dimensional subspace of \mathcal{H} . It is given that λ is an isolated point of spectrum of T , by Lemma 2.12, $\text{ran}(E) = \ker(T - \lambda)$ and λ is an eigen value of T . It follows that $\lambda \notin \sigma(T|_{\text{ran}(I-E)})$. By the general theory of Riesz integral, we take

$\text{ran}(T - \lambda) = (T - \lambda)(\text{ran}(E)) + (T - \lambda)(\text{ran}(I - E))$. This implies that $\text{ran}(T - \lambda) = (T - \lambda)\text{ran}(I - E) = \text{ran}(I - E)$. It is clear that $\text{ran}(I - E)$ is closed set, so $\text{ran}(T - \lambda)$ is closed set. Thus, $(T - \lambda)$ is a semi Fredholm operator. Consider

$$\alpha(T - \lambda)^* = \dim\left(\frac{\mathcal{H}}{\text{ran}(T - \lambda)}\right) = \dim\left(\frac{\mathcal{H}}{\text{ran}(I - E)}\right) = \dim \text{ran}(E) = \alpha(T - \lambda).$$

Therefore, $(T - \lambda)$ is a Fredholm operator of index zero, hence $\lambda \notin \sigma_w(T)$. It follows that $\lambda \in \sigma(T) \setminus \sigma_w(T)$. This completes the proof. \square

Theorem 2.14. *Let M be a subspace of \mathcal{H} such that $T(M) \subseteq (M)$ and $T(M^\perp) \subseteq (M^\perp)$. Then T is a totally (m, n) -paranormal operator on \mathcal{H} if and only if T is a totally (m, n) -paranormal operator on M and M^\perp .*

Proof. Let T be totally (m, n) -paranormal on $\mathcal{H} = M \oplus M^\perp$. Then

$$\|(T - \lambda)x\|^{n+1} \leq m\|(T - \lambda)^{n+1}x\|\|x\|^n$$

for all $x \in \mathcal{H}$ and for all complex numbers λ . Let $T|_M = T_1$ and $T|_{M^\perp} = T_2$.

Note that $T = T_1$ and $T^* = T_1^*$ on M . For $x \in M$, we have

$$\begin{aligned} \|(T_1 - \lambda)x\|^{n+1} &= \|(T - \lambda)x\|^{n+1} \\ &\leq m\|(T - \lambda)^{n+1}x\|\|x\|^n \\ &= m\|(T_1 - \lambda)^{n+1}x\|\|x\|^n. \end{aligned}$$

That is, T is totally (m, n) -paranormal on M . Again for $x \in M^\perp$, we have

$$\begin{aligned} \|(T_2 - \lambda)x\|^{n+1} &= \|(T - \lambda)x\|^{n+1} \\ &\leq m\|(T - \lambda)^{n+1}x\|\|x\|^n \\ &= m\|(T_2 - \lambda)^{n+1}x\|\|x\|^n \end{aligned}$$

This shows that T_2 is totally (m, n) -paranormal on M^\perp .

Conversely, assume that T is totally (m, n) -paranormal on M and M^\perp . Let $x = x_1 + x_2$ in \mathcal{H} , so $x_1 \in M$ and $x_2 \in M^\perp$. Thus, for all $x \in \mathcal{H}$ and all complex number λ , we obtain

$$\begin{aligned} \|(T - \lambda)x\|^{n+1} &= \|(T - \lambda)x_1 + (T - \lambda)x_2\|^{n+1} \\ &= \|(T_1 - \lambda)x_1 + (T_2 - \lambda)x_2\|^{n+1} \\ &\leq \|(T_1 - \lambda)x_1\|^{n+1} + \|(T_2 - \lambda)x_2\|^{n+1} \\ &\leq m\|(T_1 - \lambda)^{n+1}x_1\|\|x_1\|^n + m\|(T_2 - \lambda)^{n+1}x_2\|\|x_2\|^n \\ &= m\|(T - \lambda)^{n+1}x_1\|\|x_1\|^n + m\|(T - \lambda)^{n+1}x_2\|\|x_2\|^n \\ &\leq m\|(T - \lambda)^{n+1}x\|\|x\|^n \end{aligned}$$

This implies that T is totally (m, n) -paranormal on \mathcal{H} . \square

For $T \in B(\mathcal{H})$, a complex number $\lambda \in \sigma(T)$ is said to be a regular point if there exists some $S \in B(\mathcal{H})$ such that $T - \lambda = (T - \lambda)S(T - \lambda)$. An operator T is said to be reguloid if every point in $\sigma(T)$ is regular point. It is well known that from [10, Theorem 4.6.4 and Theorem 8.4.4] that $T - \lambda = (T - \lambda)S(T - \lambda)$ if and only if $\text{ran}(T - \lambda)$ is closed set.

Theorem 2.15. *For $m \leq 1$, let T be totally (m, n) -paranormal, then T is reguloid.*

Proof. Let T be totally (m, n) -paranormal. Then

$$\|(T - \lambda)x\|^{n+1} \leq m\|(T - \lambda)^{n+1}x\|\|x\|^n$$

for all $x \in \mathcal{H}$ and all $\lambda \in \mathbb{C}$. Let α be an isolated point of $\sigma(T)$. Now, we can represent T as matrix representation: $T = \begin{bmatrix} T_1 & 0 \\ 0 & T_2 \end{bmatrix}$ on $\ker(T - \alpha) \oplus \ker(T - \alpha)^\perp$ with $\sigma(T_1) = \{\alpha\}$ and $\sigma(T_2) = \sigma(T) \setminus \{\alpha\}$. By Theorem 2.6, T_1 is totally (m, n) -paranormal for $m \leq 1$, so by Proposition 2.11, we get $T_1 = \alpha$. Consider,

$$T - \alpha = \begin{bmatrix} 0 & 0 \\ 0 & T_2 - \alpha \end{bmatrix} = 0 \oplus T_2 - \alpha. \text{ It follows that}$$

$\text{ran}(T - \alpha) = (T - \alpha)\mathcal{H} = (0 \oplus T_2 - \alpha)\mathcal{H} = (T_2 - \alpha)(\ker(T - \alpha))^\perp$. This implies that $\text{ran}(T - \alpha)$ is closed set. Therefore, T is a reguloid operator. \square

REFERENCES

1. Ando, T. (1972). Operators with a norm condition. *Acta Sci. Math.* (Szeged)33, 169–178.
2. Conway, (1990). John B., A course in functional analysis, second edition, Graduate Texts in Mathematics, 96, *Springer-Verlag, New York.* <https://doi.org/10.1007/978-1-4757-4383-8>
3. Dharmarha, Preeti; Ram, Sonu. (2020). (m, n) -paranormal operators and $(m, n)^*$ -paranormal operators. *Commun. Korean Math. Soc.* 35(1), 151–159. <https://doi.org/10.2298/FIL2110293D>
4. Dharmarha, Preeti; Ram, Sonu. (2021). Spectral mapping theorem and Weyl's theorem for (m, n) -paranormal operators, *Filomat.* 35 (10), 3293–3302. <https://doi.org/10.2298/FIL2110293D>
5. Dharmarha, Preeti; Ram, Sonu. (2021), A note on $(m, n)^*$ -paranormal operators, *Novi Sad Journal of Mathematics*, **51(2)**, 17–26. <https://doi.org/10.30755/NSJOM.10257>
6. Djordjević, Slaviša; Jeon, In Ho; Ko, Eungil. (2002). Weyl's theorem through local spectral theory. *Glasg. Math. J.* 44(2), 323–327. <https://doi.org/10.1017/S0017089502020141>
7. Dunford, Nelson; Schwartz, Jacob T. (1971), Linear operators. Part III, *Interscience Publishers*, New York. <https://doi.org/10.1112/blms/6.1.106>
8. Han, Jin Kyu; Lee, Hong Youl; Lee, Woo Young. (2000). Invertible completions of 2×2 upper triangular operator matrices. *Proc. Amer. Math. Soc.*128(1), 119–123. <https://doi.org/10.1090/S0002-9939-99-04965-5>
9. Han, Young Min; Lee, Jun Ik; Wang, Derming. (2005). Riesz idempotent and Weyl's theorem for w -hyponormal operators. *Integral Equations Operator Theory*, 53(1), 51–60. <http://dx.doi.org/10.1007/s00020-003-1313-1>
10. Harte, Robin. (1988). Invertibility and singularity for bounded linear operators. Monogr. Textbooks Pure Appl. Math., 109 *Marcel Dekker, Inc., New York.* <https://doi.org/10.1002/zamm.19890690908>
11. Heuser Harro. (1982). Functional Analysis, *Marcel Dekker*, New York.
12. Kubrusly, C. S.; Duggal, B. P. (2010). A note on k -paranormal operators. *Oper. Matrices*, 4(2), 213–223. <https://doi.org/10.7153/oam-04-10>

13. Lange, Ridgley; Wang, Sheng Wang. New approaches in spectral decomposition. *Contemp. Math.*, 128 American Mathematical Society, Providence, RI, 1992. <https://doi.org/10.1090/conm/128>
14. Lasode, Ayotunde O.; Opoola, Timothy O. (2021). Fekete-Szego estimates and second Hankel determinant for a generalized subfamily of analytic functions defined by q -differential operator. *Gulf J. Math.*, 11(2), 36–43. <https://doi.org/10.56947/gjom.v11i2.583>
15. Laursen, K. B. (1992). Operators with finite ascent. *Pacific J. Math.*, 152(2), 323–336. <https://doi.org/10.2140/PJM.1992.152.323>
16. Laursen, Kjeld B.; Neumann, Michael M. (2000). An introduction to local spectral theory. *London Math. Soc. Monogr. (N.S.)*, 20 The Clarendon Press, Oxford University Press, New York.
17. Rashid, M. H. M. (2017). Some results on totally n -*-paranormal operators. *Gulf J. Math.*, 5(3), 1–17. <https://doi.org/10.56947/gjom.v5i3.102>
18. Vugdalić, Ramiz; Halilović, Sanela (2019). Cosine operator functions in \mathbb{R}^2 . *Gulf J. Math.* 7(1), 29–44. <https://doi.org/10.56947/gjom.v7i1.182>

¹ DEPARTMENT OF MATHEMATICS, C.M.G. GOVT. COLLEGE, CHAUDHARY DEVI LAL UNIVERSITY, SIRSA-125055, INDIA

Email address: ram.sonu02@gmail.com

² DEPARTMENT OF MATHEMATICS, HANSRAJ COLLEGE, UNIVERSITY OF DELHI, DELHI-110007, INDIA

Email address: drpreetidharmarha@hrc.du.ac.in